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URULE  #  GIREENIGNE FO EGELLOC YDDER.R.C RIS  
 SCINORTCELE & LACIRTCELE FO TNEMTRAPED

GNIREENIGNE  
  

 
ME2 82  YROTAROBAL SENIHCAM LACIRTCELE     

 (2  4/ M I ,E I- ETSEMES )R  
 
 

emaN tnemirepxE        
 

.1  noitarbilac retem ygrenE     

.2  ecnatsiser dleif dna erutamra fo tnemerusaeM    

.3  swaL s’ffohcriK fo noitacifireV      

.4  lioc ekohc a fo sretemaraP  

.5  1 no tset CS dna CO - remrofsnarT Φ  

.6  rotom tnuhs CD no tset daoL  

.7  rotareneg CD deticxe yletarapes a fo C.C.O . 

.8  tset s’enrubniwS . 

.9  3 no tset daoL - rotom noitcudni Φ . 

.01   yb rotanretla fo noitalugeR dohtem ecnadepmi suonorhcnys  

.11  scitsiretcarahc rotareneg tnuhs CD  

.21  3 ni rewop fo tnemerusaeM - tiucric Φ   

.31  rotoM tnuhS C.D fo lortnoc deepS    
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.pxE  oN  1:  
NOITARBILAC RETEM YGRENE  

 
:miA -   retem ygrene esahp elgnis nevig eht etarbilac oT  

 
:sutarappA - 

on.S  emaN  epyT  egnaR  ytQ  
1 retemtloV  I.M  0- 052 V 1 
2 retemmA  I.M  O- AOl  1 
3 retem ygrene esahp elgniS   noitcudnI  A01/V052  1 
4 F.P.U retemttaW   retemomanyD  A01/V003  1 
5 hctawpotS    1 

 
:margaiD tiucriC - 

 
 
 
 

:erudecorP - 
.margaid tiucric eht ni nwohs sa tiucric eht tcennoC .1  

.V 032fo egatlov detar eht ylppA .2  
 detar s'ti fo 4Y taht hcus daol eht yraV .3 .retemma eht ni swolf tnerruc  

.retemttaW dna retemmA ,retemtloV fo sgnidaer eht nwodetoN .4  
.retem ygrenE eht ni snoitulover 5 rof deriuqer emit eht nwodetoN .5  

.tnerruc daol lluf ,3/2 ,si' ot daol eht yraV .6  
mmA ,retemtloV eht nwo deton daol yreve roF .7 dna ;sgnidaer retemttaW dna rete  

.snoitulover 5 rof deriuqer emit nwodeton  
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:nmuloc ralubaT - 
 

on.S  daoL  egatloV  tnerruC  rewoP  /W=ΦsoC
IV  

        ces ni emiT
)t(snoitulover 5 rof  

       
       
 

:snoitaluclac nemicepS - 
 

tnatsnoc reteM   hwK1/ver 0021 =  

o.oN =rE.ver 5 rof demusnoc stinu f 5
0021

1 x hwk  

E .ver 5 rof yllautca demusnoc stinu fo.oN a  =
0606
)(

0001 x
temitxW  

rorre %   = 001x
E

EE

a

r  

:snoitseuQ aviV  
 bus a fo ycarucca eht yllareneg si yhW .1 - of desu sretem dradnats dna dradnats  r

hcus  
 ?tnemirepxe na  
 ?yhw dna stnemerusaem cd rof etarucca tsom si tnemurtsni fo epyt hcihW .2  
 

:snoituacerP  
 

NO si ylppus nehw srotcudnoc erab hcuot t'noD .1  
 .3 .rebmemffatS yna yb devorppa si tiucric eht sselnu ylppus eht no hctiwS t'noD .2

seohs raeW skcohs cirtcelE diova ot yrotarobal ni  
.ESU ni TON nehw secived gnirusaem eht lla eht ffo hctiwS .4  

.sretem fo ytiralop reporp rof kcehC .5  
erofeb ,ecived yna ro ylppus eht ssorca tiucric trohs on si ereht taht erusnE .6  

.ylppus eht no gnihctiws  
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.pxE  oN  2:  
 GNIDNIW DLEIF DNA ERUTAMRA FO TNEMERUSAEM

ECNATSISER  
:miA -  gnidniw dleif dna gnidniw erutamra fo ecnatsiser eht erusaem oT  

 
:sutarappA - 

 
oN.S  emaN  epyT  egnaR  ytitnauQ  

1 retemmA  C.M  0- A 01  1 
2 retemtloV  C.M  0- V 03  1 
3 retemtloV  C.M  0- V 003  1 

4 oehR tats  dnuow eriW   83 A 5.8 ,  
005 A 2.1 ,  

1 
1 

5 daoL evitsiseR   ,V 032 AOl  1 

 
:yroehT - 

  ecnatsiser eht ,wal smho rep sA  fo  gnidniw  fo  denifed si enihcam lacirtcele na
 oitar eht sa  fo .e.i ti ni gniwolf tnerruc eht ot gnidniw eht ssorca deilppa egatlov eht  

  ecnatsiseR  fo /V = R ,gnidniw eht I 
  tnemerusaem eht rof desu si tpecnoc sihT  fo  ecnatsiser  fo  dleif dna erutamra

gnidniw  
 fo .enihcam cd a  

 gnidniw erutamra ehT  fo  na setareneg hcihw ,gnidniw niam eht si enihcam cd a
 esac ni fme  fo poleved dna rotareneg eht  esac ni euqrot derised eht s  fo  rednu rotom

 stnerruc rehgih ylevitarapmoc seirrac gnidniw sihT .snoitidnoc gnitarepo lamron
 siht ni pord egatlov eht ecuder ot redro nI .snoitidnoc gnidaol eht nopu gnidneped

lluf eht gnirud gnidniw  
snoitidnoc gnitarepo daol  eulav wol rof dengised si ti ,  fo  ecnatsiser ehT .ecnatsiser  fo

 gnidniw erutamra  fo  ,esoprup yrotarobal rof desu ylnommoc senihcam cd gnitar wol
 si fo  

 redro eht  fo 5.O  ecnatsiser ehT .mho 0.1 ot  fo  moor ta gnidniw erutamra eht
 ylevitarapmoc si erutarepmet  eulav ehT .ressel  fo  ni esaercni htiw sesaercni ecnatsiser

 erutarepmet  fo .gnidniw eht  
 gnidniw dleif ehT  fo  erutamra htiw lellarap ni detcennoc si enihcam cd a

 noitcnuf niam ehT .gnidniw  fo  eht rof xulf derised eht ecudorp ot si gnidniw siht
itarepo reporp  gn  fo  derised eht ecudorp ot dedeen tnerruc dleif ehT .enihcam cd eht

ressel hsum si xulf derised eht  
 yam tnerruc dleif eht ,senihcam cd gnitar wol roF .tnerruc erutamra eht ot derapmoc

 eb fo  
 redro eht  fo  ecnatsiser eht hcus sA .A 2.1 ot 8.0  fo f tnuhs eht  yrev si gnidniw dlei

 ,hgih etiuq  fo  redro eht  fo  si gnidniw suhT .senihcam gnitar wol rof mho 052 ot 051
 egatlov detar eht ssorca detcennoc yllamron  fo  ecnatsiser sti hcus sa ,enihcam eht

.egatlov detar ot gnidnopserroc derusaem eb dluohs  
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margaiD tiucriC :- 
ecnatsiser erutamra fo tnemerusaem roF )A  

 

 
 

ecnatsiser dleif fo tnemerusaem roF )B  
 

 
 

:ERUDECORP  
)A  ecnatsiser gnidniw erutamrA fo tnemerusaem roF   

.margaid tiucric ni nwohs sa tiucric eht tcennoC )1  
fo ni era daol eht fo sehctiws eht lla taht erusnE )2 .noitisop f  

.ylppus niam eht no hctiwS )3  
.wK 52.0 fo spets ni daol ylppa woN )4  

 .ecnatsiser etaluclac dna sgnidaer retem eht nwod eton ,pets hcae roF )5  
.ylppus niam eht ffo hctiws dna daol'eht evomeR )6  
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ecnatsiser gnidniw dleif fo tnemerusaem roF   
)1 .margaid tiucric ni nwohs sa tiucric eht tcennoC  

egatlov tuptuo orez ot redivid laitnetop eht teS )2  
.ylppus niam eht no hctiwS )3  

 retem eht nwod eton dna spees ni yllaudarg redivid laitnetop eht yraV )4
..sgnidaer  

z ot redivid laitnetop eht kcab gnirB )5  eht ffo hctiws dna egatlov tuptuo ore
 .ylppus niam  

 
 

:NMULOC RALUBAT  
 

)A   ecnatsiser gnidniw erutamrA fo tnemerusaem roF  

oN.S  egatloV  
)stlov ni(  

tnerruC  
)spma ni(  

ecnatsiseR  
)smho ni(  

    
 
 
 

)B   ecnatsiser gnidniw dleif fo tnemerusaem roF  
 

oN.S  egatloV  
ov ni( )stl  

tnerruC  
)spma ni(  

ecnatsiseR  
)smho ni(  

    
 
 

:NOITALUCLAC NEMICEPS  
 

smho ni I/V=R  
 

 :tluseR - .derusaem era secnatsiser gnidniw dleif dna gnidniw erutamta ehT  
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3 : oN .pxE  
SWAL S'FFOHHCRIK  

:miA - wal tnerruc dna wal egatlov s’ffohhcriK yfirev oT  
arappA :sut - 

 
oN.S  noitpircseD   epyT  gnitaR  ytQ  

1 1- tatsremmiD Φ  epyt eroC  0/032 - A8,V072  1 
2 pmal tnecsednacnI  tnemaliF  W52  

W04  
W06  

1 
1 
1 

3 retemmA  IM  0( - )A1  
0( - )A3  

3 
1 

4 retemtloV  IM  0( -  V)003/051  4 
5 draoB gnitcennoC   ----  1 
6 seriw gnitcennoC  talusni CVP de  ----  - 

 
:yroehT - 

:waL egatloV sffohhcriK )a  
 sfme fo mus ciarbegla eht ,hsem ro tiucric desolc yna ni ,wal siht ot gnidroccA

 eht fo tnemele hcae fo spord egatlov eht ot lauqe si hsem ro tiucric taht ni gnitca
.tiucric  

 

 
R(I=V ,DCBA hsem nI 1 R+ 2 R+ 3) 

 
 )b :waL tnerruC sffohhcriK  

gnidroccA -  ciarbegla eht ,stnerruc gniyrrac seriw fo krowten yna ni ,wal siht ot
 gnimocni eht lla fo mus eht ro orez si edon a ta gniteem stnerruc eht lla fo mus

.edon taht morf yawa stnerruc gniogtuo fo mus eht ot lauqe si stnerruc  
I teL 1 I , 2 I , 3 I , 4 I , 5 I  6 I .O edon ta stnerruc eht eb 1 I , 4 I , 5  eht gniretne stnerruc eht era 

I dna O edon 2 I , 3 I , 6  s’ffohcirK ot gnidrocca nehT .O edon eht gnivael stnerruc eht era 
,wal  

I1- I 2- I +3 I +4 I 5- I  6 0=  
I e.i 1 I+ 4 I+ 5 I= 2 I+ 3 I+ 6 

of margaid tiucriC  r :LVK fo noitacifireV  
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:LCK fo noitacifirev rof margaiD tiucriC - 

 
:erudecorP - 

 )a :waL egatloV sffohhcriK  
 .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT .1  
 .desolc si hctiws ylppus eht tuptuo orez ta tats remmid eht htiW .2  
 fo tuptuo ehT ,3 eht ni nevig sa spets ni egatlov eht ot detsujda si tat sremmid eht  
 ,pets hcae rof deton era 3 V ,2 V ,I V fo sgnidaer eht dna nmuloc ralubat  
 si hctiws ylppus eht dna tuptuo orez ot kcab thguorb si tatsremmid ehT .4  
 .denepo  
 
 

 )b waL tnerruC s ffohhcriK : 
.margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT .1  

.desolc si hctiws ylppus eht tuptuo orez ta tatsremmtd eht htiW .2  
eht ni nevig sa spets ni egatlov eht ot detsujda si tats remmid ehtfotjlptuo ehT .3  

 nidaer retemma eht lla dna nmuloc ralubat .pets hcae rof deton era sg  
denepo si hctiws ylppus eht dna tuptuo orez ot kcab thguorb si tatsremmid ehT   .4    
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:LVK fo noitacifireV rof nmuloC ralubaT  
egatlov deilppA    

oN.lS  
stlov ni V  IV  ni 

stlov  stlov ni 2V  stlov ni 3V  V = 3V+2V+IV  
1 05      
2 001      
3 051      

4 002      
5 032      

 
:LCK fo noitacifireV rof nmuloC ralubaT  

egatlov deilppA    oN.lS  
stlov ni V  Ii spmA ni  I2 spmA ni  I i 3 spmA ni  I=I 1 I+ 2 I+ 3 

1 05      
2 001      
3 051      

4 002      
5 032      

 
:snoitaluclac nemicepS - 

 
V = 3V+2V+IV )LVK rof(  

I  =  I 1 I+ 2 I+ 3 )LCK rof(  
 

:snoitseuQ aviV - 
LCK dna LVK etatS )1  

 rof seman rehto era tahW )3 ?skrowten raenil~non ni deilppa eb swal eseht naC )2
?swal eseht  

 
:snoituacerP - 

 
NO si ylppus nehw srotcudnoc erab hcuot ton oD )1  

 eht lla ffo hctiwS )2 .ESU ni TON nehw secived gnirusaem  
eht NO gnihctiws erofeb noitisop muminim ni si tatsremmid taht erusnE )3  

 .ylppus eht FFO gnihctiws erofeb dna ylppus  
erofeb ,ecived yna ro ylppus eht ssorca tiucric trohs on si ereht taht erusnE )4  

 ppus eht NO gnihctiws .yl  

 .sretem fo ytiralop regarp rof kcehC )5  
 

.pxE  oN  : 4 
ROTCUDNI EROC NORI NA FO SRETEMARAP  

 
: miA  nori na fo ecnatcudni dna ecnatsiser eht enimreted oT   -  .rotcudni eroc  

 
: sutarappA  

 
.oN.lS  noitpircseD  epyT  gnitaR  .ytQ  

.1  rotcudni eroc norI    ,Hm 052 A2  1 
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.2  1- tatsremmiD  epyt eroC  0/032 - A4 ,V072  1 

.3  ylppus rewop C.D   0- A2 ,V03  1 

.4  retemmA  C.M  
II.M  

0-  A3  
0-  A3  

1 
1 

.5  retemtloV  I.M  0-  V052  1 

.6  retemttaW  retemomanyD   ,V003 ,A2/1
FPL ,W06  1 

.7  seriw gnitcennoC   C.V.P
detalusnI  

---  ---  

 
 

d tiucriC : margai  

 )a  ecnatsiser CD gnitaluclac roF  

 

 

 )b rotcudnI eht fo sretemarap eht lla gnitaluclac roF   

 
: erudecorP  

 )a ecnatsiser CD gnitaluclac roF  

.1   margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT - .a  

.2  ylppus rewoP.C.D eht fo sbonk egatlov eht htiW  eht snoitisop muminim ta 
.NO dehctiws si ylppus rewop  

.3   evitcepser eht dna nmuloc ralubat eht ni nevig sa spets ni deirav si egatlov ehT
.deton era stnerruc  

.4   rewop eht dna snoitisop muminim rieht ot kcab thguorb era sbonk egatlov ehT
.FFO dehctiws si  ylppus  

 
)b  rotcudnI eht fo sretemarap eht lla gnitaluclac roF  
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.1   margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT - .b  

.2  .desolc si hctiws ylppus eht tuptuo orez ta tatsremmiD eht htiW  

.3  etsujda si egatlov tuptuo eht taht hcus spets ni deirav si tatsremmiD ehT  ot d
 eht lla fo sgnidaer eht pets hcae rof dna nmuloc ralubat eht ni nevig seulav eht

.deton era sretem  
.4   si hctiws ylppus eht dna tuptuo orez ot kcab thguorb si tatsremmiD ehT

.denepo  
 

:)1( nmuloc ralubaT  
 

.oN.lS  V 
stloV ni  

I 
spmA ni  

R 
 ni

smhO  
.1  2   
.2  4   
.3  6   
.4  8   

 
: noitaluclac nemicepS  

I
VR  

 
 

:)2( nmuloc ralubaT  
 

.oN.lS  
V 

 ni
stloV  

I 
 ni

spmA  

W      
 ni
sttaW  

  Z  
 ni 
smhO  

R 
 ni 
smhO  

 X L 
 ni 
smhO  

L 
 ni  
yrneH  

f.p  

1 05         
2 001         
3 051         
4 002         
5 032         

 
: noitaluclac nemicepS  

 

I
VZ  ;  2I

WR ; 22 RZX L ; 
f2

XL L ; 
Z
RsoC ; 

 
: snoitseuQ aviV  

.1  ?tceffe niks yb tnaem si tahW  

.2  emttaW fo pleh tuohtiw tnemirepxe eht mrofrep uoy naC ?ret  

.3  ?ylppus cd rof rotcudni fo roivaheb eht si tahW  

.4   ro eurT tnemetats eht sI ,egatlov eht sdael tnerruc tiucric evitcudni na nI
?eslaF  

 



urulE # gnireenignE fo egelloC yddeR R C riS  
gnireenignE scinortcelE & lacirtcelE fo tnemtrapeD  

)822EM( baL senihcaM lacirtcelE  31  

 .pxE  oN  5:  
1 NO STSET TIUCRIC TROHS DNA TIUCRIC NEPO -  

REMROFSNART  
 

 :miA -  tiucric trohs dna tiucric nepo eht tcudnoC 1 no tset -  dna remrofsnart 
.sdaol tnereffid ta noitaluger dna ycneiciffe eht enimreted  

 
 :sutarappA - 

 
oN.lS  sutarappA  epyT  egnaR   ytQ  

.1     retemmA  )I.M(   0 - A3  1 

.2     retemmA  )I.M(   0 – A01  1 

.3    retemtloV  )I.M(   0 – V03  1 

.4    retemtloV  )I.M(   0 – V511  1 

.5   mttaW F.P.L  rete  retemomanyD  V051/A5.2  1 

.6   .F.P.U retemttaW  retemomanyD  V57/A01  1 

.7   cairaV  epyt eroC  0/V032 -  ,V072
A8  

1 

.8   1- remrofsnarT  epyt eroC   V511/V032
AVk2  

1 

.9   seriw gnitcennoC  detalusnI C.V.P  - - 
 

:yroehT - 
 

  nevig a no stset .C.S dna .C.O gnitcudnoc yB  nac ew sremrofsnart
 yllautca tuohtiw tiucric tnelaviuqe dna noitaluger ,ycneiciffe eht tciderp

on enimreted ot si tset siht fo esoprup ehT .ti gnidaol -  ssol eroc )ro( ssol daol
on dna - x gnidnif ni lufpleh si hcihw ,tnerruc daol 0 R dna 0  .  

 
iw eno tset C.O nI  egatlov hgih yllausu remrofsnart eht fo gnidn

 egatlov lamron fo ylppus sti ot detcennoc si rehto eht dna nepo tfel si gnidniw
 detcennoc era A retemma na dna ,V retemtlov ,w retemttaw A .ycneuqerf dna

t ot deilppa si egatlov lamron eht htiw ,gnidniw .V.L ni  lamron ,yramirp eh
 era hcihw rucco lliw sessol nori lamron ecneh eroc eht ni putes eb lliw xulf

on ehT .retemttaw eht yb dedrocer -  si ssol reppoc os llams si tnerruc daol
 eroc eht yllacitcarp stneserper gnidaer retemttaw eht ecneH .llams ylbigilgen

.ssol  
 
I trohs si gnidniw .V.L yllamron ,gnidniw eno tset .C.S n -  dna detiucric

 edis .V.H no deilppa si egatlov wol yreV .edis .V.H ni detcennoc era sretem
 .gnidniw eht ni gniwolf si tnerruc daol lluf litnu ylwols desaercni si ti dna

retemttaw snoitidnoc eseht rednU  .ssol reppoc daol lluf eht stneserper gnidaer 
 eht ot derapmoc elbigilgen si hcihw ,ssol eroc fo tnuoma llams a osla si erehT

.ssol reppoc  
 
 



urulE # gnireenignE fo egelloC yddeR R C riS  
gnireenignE scinortcelE & lacirtcelE fo tnemtrapeD  

)822EM( baL senihcaM lacirtcelE  41  

:erudecorP - 
 

:tseT C.O roF    - 
 

)1  . margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  
)2  a tats remmid eht htiW .desolc si )TSPD( hctiws ylppus eht ,tuptuo orez t  
)3   eht sdaer retemtlov eht taht hcus detsujda si tats remmid eht fo tuptuo ehT

 retem eht lla dna remrofsnart eht fo gnidniw V.L eht ta egatlov detar
.nmuloc ralubat eht ni deton era sgnidaer  

)4  i tats remmid ehT  hctiws ylppus eht dna tuptuo orez ot kcab thguorb s
denepo si )TSPD(  

 
:tseT C.S roF     - 

 
)1  . margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  
)2  .desolc si hctiws ylppus eht ,tuptuo orez ta tats remmid eht htiW  
)3  etsujda si tats remmid eht fo tuptuo ehT  eht sdaer retemma eht taht hcus d

 retem eht lla dna remrofsnart eht fo gnidniw V.H eht ta tnerruc detar
.nmuloc ralubat eht ni deton era sgnidaer  

)4   si hctiws ylppus eht dna tuptuo orez ot kcab thguorb si tats remmid ehT
denepo  

 
 

:nmuloC ralubaT - 
 

 ucric nepO tset ti  tseT tiucric trohS  
 l.S

oN  
Vo 

 ni
stlov  

Io  
 ni
spmA  

Wo 
ni  

sttaW  

V CS  
 ni
stlov  

I CS   
 ni
spmA  

W CS  
nI  

sttaW  
       

 
 
 

 l.S
oN  

 SOC o Iw  
 ni
spmA  

Im 
ni  

spmA  

Ro 
  ni  

 

Xm  
  ni  

 

 soC
cs  

R qe  
  ni  
 

X qe   
  ni  

 

W CS  
nI  

sttaW  
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luclac nemicepS :snoita - 

  

  =       remrofsnart fo tnerruc detaR 
egatlov ylppuS 

remrofsnart fo gnitar AVK  

 

=  rotcaf noitacilpitluM retemttaW rotcaf rewoP
gnidaer elacs retemttaw mumixaM
   egnaR tnerruC  X  egnaR egatloV   

 
rotcaf noitacilpitluM retemttaW   X   gnidaer retemttaW  = rewoP tupnI  

 

  .1
00

0
0 iv

wsoC    .2 0IIW soC o   .3 0IIm niS o  .4
w

o
o I

V
R   

 .5
m

o
m I

VX   .6 2
cs

cs
qe I

WR    .7
cs

cs
qe I

VZ    .8 22
qeqeqe RZX  

 

 = daol lluf  ta ycneiciffE  % 001
cso WWsoCAVdaollluF

soCAVdaollluF  

na ta ycneiciffE  ¾ = X  ro ½ =X  ro ¼ = X  erehw ,L.F*X  daol y  
 

 = L.F *.X  ta ycneiciffE  % 0012
cso WXWsoCAVdaollluFX

soCAVdaollluFX  

 

  =  noitalugeR %
detar

qeqe

V
NISXSOCR

001 X  

 
 F.P gniggaL rof si + erehw  

- F.P gnidaeL rof si  
 

:tiucriC tnelaviuqE - 
 
Ro X , m – ediS V.L ot derefer era  
 
Req

1 X . qe
1– ediS V.H ot derefeR  

 
era ediS V.L derefer seulav esehT  

 

2

1

2

1

k
X

X

k
R

R

qe
qe

qe
qe

  

  = k erehw
1

2

1
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E
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N
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:hparg fo erutaN - 
 

)a  daoL sV ycneiciffE %     rotcaF rewoP sV noitalugeR % )b  
 
 
 
 
 
    
 

 
 
 
 

 
 
   
 
 

: snoitseuq aviV - 
1 ?tset CS & CO fo esoprup eht si tahW  
.2  ?AVK ni detar sremrofsnart era yhW  
.3   edis VL no detcudnoc tset CO eht si yhW  
.4  edis VH no detcudnoc tset CS eht si yhW  
.5  ?tset CO ni desu si retemttaw F.P.L na si yhW  
.6  taw FPU a si yhW tset CS ni desu si retemt  
.7  ?stset remrofsnart fo segatnavda eht era tahW  
.8  V egatlov deilppa eht si tahW cS ?tset cs rednu  
.9  tset CS ni detcelgen era ssol nori yhW  
01   era sessol reppoc yhw dna tset CO ni tnerruc yramirp fo eulav eht si tahW

?detcelgen  
11 tset CS & CO ni yllacitcarp niatbo retemttaw fo sgnidaer eht era tahW  

.21   tupni eht setacidni tahw dna tset CS ni remrofsnart fo tuptuo eht si tahW
rewop  

31   ?ssol eroc fo stnenopmoc eht era tahW  
41  ?ycneiciffe mumixam rof noitidnoc eht si tahW  
51   sepyT sremrofsnart fo  
.61  ?sremrofsnart fo yramirp eht ot deilppa ylppus CD si noitidnoc tahw rednU  

71  ?snoitacilppa ycneuqerf hgih rof desu ton sremrofsnart eroc nori era yhW  
.81  ?remrofsnart a fo tiucric tnelaviuqe fo stnenopmoc eht era tahW  

ycneiciffE 
%


 

 daoL  
 

ge
R 

%


 

 rotcaf rewoP  
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.pxE  oN  : 6 
 

DAOL ROTOM TNUHS .C.D NO TSET  
 

:miA -  sti enimreted dna rotom tnuhs .C.D no tset daol ekarb eht tcudnoc oT 
.scitsiretcarahc ecnamrofrep  

 
:sutarappA - 

 
oN.S  sutarappA  epyT  egnaR  ytQ  

1  retemmA  )C.M(   0 – A 01  1 
2  retemmA  )C.M(   0 – A 1  1 
3  retemtloV  )C.M(   0 – V 052  1 
4  tatsoehR  dnuoW eriW   005 A 2.1 ,  1 
5  retemohcaT  latigiD  0- mpr 9999  1 
6  gnidaol htiw rotom tnuhs .C.D

tnemegnarra  
 - 1 

7 seriw gnitcennoC  detalusnI C.V.P  - - 
 

:yroehT - l no detcudnoc si tset sihT .enihcam cd gnitset fo dohtem tcerid si sihT  wo
 si daol lanoitcirf ekarb a dna rotom eht sa nur si enihcam eht senihcam P.H
 htiw detcirtser si murd ekarb eht fo tnemom ehT .tfahs gnivom eht ot deilppa
 retaW )a fo gnitsisnoc tnemegnarra gnikarb ehT .tnemegnarra gnikarb a

murd ekarb delooc  pS)c tleb )b  eht no noisnet eht erusaem ot secnalab gnir
 ekarb neewteb noitcirf ehT .msinahcem gnitsixe noisnet )d  dna tleb ekarb
 tleb eht fo noisnet eht gnitsujda yB .daol lacinahcem a sa stca tleb dna murd

noitcirf ekarb ot euD .detsujda eb nac rotom eht no daol eht  si taeh elbirret 
 ot ro erutarepmet gnikrow eht ni htiw murd ekarb eht peek oT .decudorp

.retaw delooc htiw dellif si murd ekarb eht noitcirf ot eud taeh eht evomer  
 

:erudecorP - 
 

.1  .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  

.2  leif rotom eht htiW  ni eldnah retrats tniop 3 eht ,noitisop tuotuc ni tatsoehr d
 yllatot si murd ekarb eht revo tleb eht taht gnirusne dna noitisop laitini

.desolc si hctiws ylppus eht ,denesool  
.3  3 ehT -  eht tuo tuc ot yllaudarg esiw kcolc devom si eldnah retrats tniop

cnatsiser .strats rotom eht taht os tiucric erutamra rotom eht ni e  
.4   dna tatsoehr dleif rotom eht gniyrav yb deeps detar sti ot thguorb si rotom ehT

.deton era deeps sa llew sa sgnidaer retem eht lla  
.5  nidaer retem eht lla pets hcae rof dna spets ni deilppa si daol ehT  gnirps ,sg

.deton era deeps sa llew sa sgnidaer ecnalab  
.6  .dehcaer si rotom eht fo tnerruc detar eht litnu detaeper si 5 .on petS  
.7   tuc ot kcab thguorb si tatsoehr dleif rotom eht ,spets ni devomer si daol ehT

.denepo si hctiws ylppus eht dna noitisop tuo  
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:nmuloc ralubaT - 

.lS
oN  

V 
nI  

stloV  

Il 
nI  

spmA  

I hs  
nI  

spmA  

S1 
nI  

sgK  

S2 
nI  

sgK  

T 
nI  

 N - m  

N 
nI  
mpr  

Ia 
nI  

spmA  

tupnI  
nI  

sttaW  

tuptuO  
nI  

sttaw  

% 
ycneiciffE  

 
 

           

 
:snoitaluclac nemicepS - 

 
  euqroT .1   S( = T 1 S ~ 2  )  r  N 18.9 – m  

2  tnerruc erutamrA .  Ia I  = L – I hs spma  
rewop tupni rotoM .3  P  i I . V = L sttaw  

 

P rewop tuptuo rotoM .4 o  =
06

TN2
sttaw  

ycneiciffe % .5   = 001
rewop tupni
rewop tuptuo

 

 
 eht fo erutaN

:hparg - 
 

 aviV – :snoitseuQ ecoV - 
 

.1  m rof noitidnoc eht si tahW ?rotom cd a ni tuptuo mumixa  

.2   gninnur rednu denepo si rotom cd a fo tiucric dleif eht fi sneppah tahW
?noitidnoc  

.3  ?rotom cd a fo noitauqe euqrot eht nwod etirW  

.4  ?rotom tnuhs cd a fo sevruc ecnamrofrep & scitsiretcarahc eht warD  

.5  i rotom cd a ni euqrot tsol ehT ?ssol hcihw ot lanoitroporp s  

.6  ?deeps lacitirc yb tnaem si tahW  

.7   ni ecnatsiser erutamra ecnatsiser gnidniw dleif fo segnar lausu eht era tahW
?rotom tnuhs cd a fo esac  

.8  3 esu ew naC -  dleif gnisu rotom cd fo lortnoc deeps eht rof retrats tniop
 ?dohtem tatsoehr ?yhW  

.9  ?rotom seires cd rof desu sdohtem lortnoc deeps tnereffid eht era tahW  
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.pxE  oN  : 7 
ROTARENEG .C.D A FO SCITSIRETCARAHC TIUCRIC NEPO  

 
:miA - .rotareneg .C.D detixe yletarapes a fo scitsiretcarahc tiucric nepo eht tolp oT  

 
:sutarappA - 

oN.S  sutarappA  pyT e egnaR  ytQ  
1  retemtloV  )C.M(   0 – V 052  1 
2  retemmA  )C.M(   0 – A 1  1 
3  tatsoehR  dnuoW eriW   005 A 2.1 ,  2 
4 retemohcaT  latigiD  0- M.P.R 9999  1 
5  delpuoc rotoM CD

rotareneG C.D ot  
 - - 

6 seriw gnitcennoC  detalusni CVP  - - 
 

:yroehT -  tnerruc dleif ehT If  tI .ecruos CD tnednepedni lanretxe na morf deniatbo si 
 yb daer si eulav sti dna retemoitnetop a yb sdrawpu orez morf deirav eb nac

.tiucric dleif eht ni detcennoc retemmA  
E si rotareneg CD a fo noitauqe egatloV g   = A06/PNZ  

t ,tnatsnoc si deeps fi ecneH K = E     semoceb noitaler evoba eh  
I nehw taht suoivbo si tI f  xulf eht ,eulav llams laitini sti morf desaercni si  

 era selop eht elihw tnerruc sa sesaercni fme detareneg ecneh dna
etarutas emoceb selop eht ,sesaercni ytisned xulf eht sa tuB .detarutasnu  os d

I ni rotareneg a  f  eht sa naht egatlov ni esaercni nevig a ecudorp ot seriuqer si 
.evruc eht fo trap rewol  

 egatlov lanimret eht neewteb noitaler gniwohs evruc ehT ‘V’  dleif dna 
I tnerruc f on no si rotareneg eht nehw - daol  

 
:erudecorP - 

 
.1   snoitcennoc ehT .margaid tiucric eht ni nwohs sa edam era  
.2   dleif rotareneg eht ,noitisop TUOTUC ni tatsoehr dleif rotom eht htiW

3 rotom eht dna noitisop NITUC ni tatsoehr -  laitini sti ta eldnah retrats tniop
.desolc si hctiws ylppus CD eht ,noitisop  

.3  3 ehT - nah retrats tniop  eht tuo tuc ot yllaudarg esiw kcolc devom si eld
.strats rotom eht taht os tiucric erutamra rotom eht ni ecnatsiser  

.4   .tatsoehr dleif rotom eht gniyrav yb deeps detar sti ot thguorb si rotom ehT  

.5  atsiser eht gniyrav yllaudarg yb detixe si dleif rotareneg ehT  eht fo ecn
 dleif gnidnopserroc eht pets hcae rof dna spets ni tatsoehr dleif rotareneg

.deton era egatlov daol on eht dna tnerruc  
.6   lla dna dehcaer si rotareneg eht fo egatlov detar eht litnu detaeper si 5 .on petS

.pets hcae rof deton era sgnidaer retem eht  
.7   rotom eht ,noitisop NITUC ot kcab thguorb si tatsoehr dleif rotareneg ehT

.denepo si hctiws ylppus eht dna noitisop TUOTUC ot tatsoehr dleif  
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E
 g

  stlo
V ni 


 

If    spmA ni  

:nmuloc ralubaT - 
 

oN.lS  If 
nI  

spmA  

Eg 
nI  

stlov  
 
 
 

  

 
:hparg fo erutaN - 

 
   
 
 
 

 
 

 
 
 
 
 
 aviV – seuQ ecoV :snoit - 

 
.1   tnereffid rof sgnidniw erutamra dna dleif fo snoitacol eht yfitnedI

.senihcam  
.2  enihcam a fo seulav detar yb naem uoy od tahW  
.3  ?rotareneg cd a ni tneserp ton si xulf laudiser eht fi enod eb ot si tahW  
.4  ?rotreneg cd a fo noitauqe FME eht nwod etirW  
.5   oT  a sa detcennoc eb ot sah ti rotareneg tnuhs deticxe fles a fo CCO dnuof

.)eslaf ro eurt( si ti nehw rotareneg deticxe yletarapes  
.6   cd fo CCO seod erehW ?ti rof eman rehto eht si tahw CCO dnapxE

N deeps ta seil rotareneg 1 N ta CCO fo taht ot tcepser htiw 2  fi N1 N < 2. 
.7   a sa dna rotareneg cd ni ______________ a sa skrow rotatummoC

.rotom cd a ni ___________  
.8   ,egatlov hgih dna gnidniw __________ evah lliw srotareneg cd egraL

.sgnidniw _____________ evah lliw rotareneg llams  
.9  ________ neewteb decalp eb lliw selopretnI .rotareneg cd a ni ____  
.01  ? )eslaF ro eurT ( retrats tniop 4 gnisu detrats  eb nac rotom tnuhs cd A  
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.pxE  oN  : 8 
ROTOM TNUHS .C.D NO TSET S’ENRUBNIWS  

 
:miA -  sti enimreted dna enihcam tnuhs CD eht no tset daol on eht tcudnoc oT

aol tnereffid ta ycneiciffe rotareneG )b  & rotoM )a  sa setarepo nehw sd  
:sutarappA - 

 
oN.S  sutarappA  epyT  egnaR  ytQ  

1  retemmA  )C.M(   0 – A 3  1 
2  retemmA  )C.M(   0 – A 5.1  1 
3  retemtloV  )C.M(   0 – V 052  1 
4  tatsoehR  dnuoW eriW   005 A 2.1 ,  2 
5 retemohcaT  latigiD  0- M.P.R 9999  1 
6  rotom tnuhs CD   - 1 
7 seriw gnitcennoC  detalusni CVP  - - 

 
:yroehT -    a fo ycneiciffe eht etaluclac ot dohtem tceridni elpmis a si tset s’enrubniwS

 ta detaluclac era sessol tnatsnoc dohtem siht nI .senihcam CD xulf tnatsnoc
on - eiciffe siht morf dna daol erp eb nac daol derised yna ta ycn -  denimreted

on ta rotom a sa nur si enihcam eht dohtem siht nI .ecnavda ni -  sti tA .daol
)hR dleif tnuhs gnisu yb detsujda( deeps detar & egatlov detar  

 
snoitatimiL   

 dnuopmoc & tnuhs e.i senihcam xulf tnatsnoc ot elbacilppA  
senihcam  

:segatnavdA  
  yrev si enihcam eht tset ot deriuqer rewop esuaceb lacimonoce si tI

.rewop tupni daol on e.i llams  
 erp eb nac ycneiciffe ehT - .daol derised yna ta denimreted  

:segatnavdasiD  
 hcihw deyortsed si xulf ,noitcaer erutamra ot eud daol lluf tA  

 ni egnahc siht rof nekat si tnuocca oN .sessol nori eht sesaercni
.sessol nori  

 on no si tset eht sA -  rehtehw wonk ot elbissopmi si ti ,daol
 eht rehtehw dna daol lluf ta yrotcafsitas eb dluow noitatummoc

.stimil deificeps eht nihtiw eb dluow esir .pmet  
corP :erude - 
.1  .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  
.2  3 ,noitisop TUOTUC ni tatsoehr dleif rotom eht htiW -  ta eldnah retrats tniop

.desolc si hctiws ylppus eht ,noitisop laitini sti  
.3  3 ehT - tuc ot yllaudarg esiw kcolc devom si eldnah retrats tniop  eht tuo 

.strats rotom eht taht os tiucric erutamra rotom eht ni ecnatsiser  
.4   .tatsoehr dleif rotom eht gniyrav yb deeps detar sti ot thguorb si rotom ehT  
.5  .nmuloc ralubat eht otni deton era sgnidaer retem eht llA  
.6   ot kcab thguorb si tatsoehr dleif rotom ehT  ylppus eht dna noitisop tuo tuc

.denepo si hctiws  
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   daoL tuptuO  

 ycneiciffE 
%


 

 rotoM  
 

 rotareneG  
 

:nmuloc ralubaT - 
oN.lS  I0 

nI  
spmA  

I hs  
nI  

spmA  

V 
nI  

stlov  
 
 

  
 

 

 
:snoitaluclac nemicepS - 

 
.1   tnerruc erutamra daol oN  I = oa I = o – I hs spma  

 erehw  Io    - on eht si -  fo tnerruc tupni daol rotom C.D eht  
 I hs  – tnerruc dleif tnuhs eht si  

.2   ssol reppoc erutamrA   I = oa
2 sttaw aR  

R erehw a –  enihcaM.C.D eht fo ecnatsiser erutamra eht si  
tloV yb denimreted eb nac ti        - .dohtem pmA  

.3   rewop tupni latoT   P = i I V = o sttaw  

.4   ssol rewop tnatsnoC    = P  c I V = o – I oa
2 sttaw aR  

ycneiciffE fo noitaluclaC  .5   
rotom sa gninnur nehw  : I  fI L spma ni tnerruc daoL lluF =  

daoL  lluf tA   daoL lluF flaH tA  

tnerruc erutamrA  .a  I = a I = L – I hs spma  I a  = hs
L II

2
spma  

 ssoL .uc erutamrA  .b  w = c  = Ia
2  sttaw aR  wc I = a

2 R a sttaw   
 tupni rotoM  .c   P = i I V = L sttaw  P  o IV ½ =   L sttaw  

  
sessol tnatsnoC  .d   P = c sttaw      

 sessol latoT  .e   P =  t P = c w + c sttaw   

 = rotom  fo ycneiciffe % 001
p

pp
i

ti    

:rotareneg sa gninnur nehw  
    lluF tA daoL    daoL lluF  flaH  tA  

tnerruc erutamrA  .a  I = a I = L I + hs spma   Ia   = hs
L II

2
spma   

 ssoL .uc erutamrA .b  w = c I = a
2 R  a sttaw  wc I = a

2 R a sttaw   
tuptuo rotareneG .c  P = o I V= L sttaw  P  o IV ½ =   L sttaw   

sessol tnatsnoC .d   P = c sttaw   
e  sessol latoT .   P =  t P = c w + c sttaw  

 = rotareneg fo ycneiciffe % 001
to

o

pp
p  

: hparG fo erutaN - 
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 aviV – :snoitseuQ ecoV  
.1  ?yhw ,noitidnoc gninnur eht rednu rotom cd a rof rotrats a eriuqer uoy oD  
.2  cd a sa rotom cd eht esu uoy naC .enod eb ot si tahw ,os fI ?rotareneg  
.3  ?.enihcam cd a ni ecalp gnikat sessol eht era tahW  
.4  ?tset snrubniws gnirud ycveiciffe & p/o rewop eht si tahW  
.5  ?A81 fo enihcam cd a no tset snrubniws gnitcudnoc rof gnitar esuf eht si tahW  
.6  arepo fo elpicnirp eht si tahW ?rotom cd fo noit  
.7  ?desrever  ytiralop ecruos fi rotom tnuhs cd ot sneppah tahW  
.8   elbissop eht eb dluoc tahw no dehctiws nehw trats ot sesufer rotom tnuhs cd A

?seidemer dna snosaer  
.9  ?denepo ylneddus si tiucric dleif fi rotom ot sneppah tahW  
.01  navda eht era tahW  rehto eht revo tset snrubniwS fo segatnavdasid dna segat

?stset  
.11  ?enihcam cd a rof ycneiciffe mumixam eht teg uoy lliw nehW  
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.pxE  oN  : 9 
ROTOM NOITCUDNI ESAHP EERHT NO TSET DAOL  

 
:miA - bo dna rotom noitcudnI egac lerriuqs esahp eerht no tset daol tcudnoc oT  niat

.scitsiretcarahC ecnamrofrep eht  
 

:sutarappA - 
 

 .lS  sutarappA  epyT  egnaR   ytQ  
.1     retemmA  )I.M(   0 – A01  1 
.2    retemtloV  )I.M(   0 – V006  1 
.3   .F.P.U retemttaW   retemomanyD  V006/A01  1 
.4   retemohcaT  latigiD  0- mpr 000,01  1 
.5   3- tats remmiD  epyt eroC  0/V514 -4 A01 ,V07   
.6   3-  egac lerriuqS 

 htiw rotom noitcudnI
stnemegnarra gnidaol  

  epyt nevird tleB
daoL  

1 

.7   seriw gnitcennoC  detalusni CVP  - - 
 

:yroehT - 
 etelpmoc sti etupmoc ot demrofrep si rotom noitcudni no tset daol ehT

ycneiciffe ,pils ,euqrot .e.i ecnamrofrep  eht ,tset siht gnirud .cte rotcaf rewop ,
 dedaol yllamron dna ycneuqerf dna egatlov detar ta detarepo si rotom

 eht ,atad devresbo eht morf tnemegnarra yellup dna ekarb yb yllacinahcem
.woleb nevig spets eht gniwollof ,detaluclac eb nac ecnamrofrep  

:pilS  hT N ,rotor eht fo deeps e n a ylthgils spoord s  si rotom eht no daol 
.desaercni  

  ,deeps suonorhcnyS .m.p.r
P

f021NS    f    ycneuqerf  

        P   selop fo .oN  

  pils ,nehT %001
N

NN
S

S

rS  

 p 5 ot 2 morf si daol lluf ta pils fo egnar eht ,yllamroN .tnecre  
:euqroT   daol eht dna rotom eht fo tfahs eht ot delpuoc si murd ekarb A

.murd ekarb eht no dedivorp ,tleb eht gninethgit yb deilppa si  
 ,detrexe ecrof teN S( = 1 – S 2 gk )  

 ,euqrot daol ,nehT mgk
2
dT   

          mN 18.9
2
d  

 si d ,erehW - .sretem ni murd ekarb eht fo retemaid evitceffe  
 

 :rewop tuptuO yb nevig si rotom eht yb depoleved sttaw ni rewop tuptuo ehT  

 ,rewop tuptuO ttaw
06

TN2P0  

m.p.r ni rotom eht fo deeps eht si N erehW  
 

:rotcaf rewoP   I  f tcaf rewop eht si  neht ,elgna ro  
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IV3

soc  

  erehW .rewop tupni eht si  

:ycneiciffE   ,rotom eht fo ycneiciffe egatnecreP
rewoptupni
rewoptuptuo 001 X  

 3 fo ycneiciffe daol lluF -  roF( %28 fo egnar eht ni seil rotom noitcudni esahp
yrev roF( %29 ot )rotom llams )srotom egral  

 
:erudecorP - 

 
.1  .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  
.2   hctiws ylppus eht ,denesool yllatot si murd ekarb eht revo tleb eht taht gnirusnE

desolc si )TSPT(  
.3  ahp eerht eht no nottub hsup ’nO‘ eht gnisserp yb detrats si rotom ehT  tcerid es

 ecnalab gnirps dna deeps sa llew sa sgnidaer retem eht la dna retrats enil no
.deton era sgnidaer  

.4   gnirps ,sgnidaer retem eht lla pets hcae rof dna spets ni deilppa si daol ehT
.deton era deeps sa llew sa sgnidaer ecnalab  

.5  tnu detaeper si 4.on petS .dehcaer si rotom eht fo tnerruc detar eht li  

.6   ’FFO‘ eht gnisserp yb deppots si rotom eht dna ,spets ni devomer si daol ehT
.denepo si hctiws ylppus eht dna retrats enilno tcerid eht no nottub hsup  

 
 

:nmuloc ralubaT - 
 
 

 l.S
oN  

VL 
 ni
stlov  

IL  
 ni
spmA  

W1 
ni  

W stta  

W2 
ni  

sttaW  

S1 
nI  
sgk  

S2 
nI  
sgk  

W T 
ni  

sttaW  

deepS  
 ni  

mpr  

euqroT  
 ni  

N-m 

 tuptuO  
nI  

sttaW  

 
ni  
%  

 rewoP
rotcaF  

 soc  

pilS  
ni  

% 
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tiucriC  :margaid - 
 

 
 
 



urulE # gnireenignE fo egelloC yddeR R C riS  
gnireenignE scinortcelE & lacirtcelE fo tnemtrapeD  

)822EM( baL senihcaM lacirtcelE  13  

  ycneiciffE


 

 deepS


 

 rotcaF rewoP  

    pilS  

 
 :snoitaluclac nemicepS - 

 

 tnatsnoc retemttaW   =
gnidaerelacsretemttaWmumumixaM
WfoegnartnerrucWfoegnaregatlov

 

rewoP tupnI .1   W ( = 1 W 2 sttaw )  
 

 euqroT .2    =    18.9 * R * )2S~ 1S( N-m 

rewoP tup tuO .3   =
06

2 TN sttaw   

 ycneiciffE % .4   = 001
rewoptupnI
rewoptuptuO

 

 rotcaF rewoP .5   SOC =  SOC = 
)(
)(

3
21

211

ww
ww

naT  

 pilS % .6    = 001
sN

NsN   erehw   
P

fsN 021 m.p.r   

 
:hparg fo erutaN - 

 
 
 ycneiciffE  

 
  

 deepS  
 

 
 

 

   sttaw ni rewop tup tuO  
 

 
 

 

 rotcaF re
woP


 

 pilS

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.pxE  oN  : 01  
 SUONORHCNYS YB ROTANRETLA NA FO NOITALUGER

DOHTEM ECNADEPMI . 
 

:miA - 3 a no tset tiucric trohs dna tiucric nepo tcudnoc oT -  enimreted dna rotanretla 
 .dohtem ecnadepmi suonorhcnys gnisu yb evruc noitaluger daol lluf eht  

 
:sutarappA - 

oN.S  sutarappA  epyT  egnaR  ytQ  
1  retemmA  )C.M(   0 – A 5.1  1 
2  retemmA  )I.M(   0 – A 01  1 
3  retemtloV  )I.M(   0 – V 003  1 
5 tatsoehR  dnuoW eriW   005 A 2.1 /  2 
8  retemohcaT  )latigid(  mpr 99999.0  1 
9 tes rotanretla rotoM   - 1 
01  seriw gnitcennoC  detalusni CVP  - - 
 

:yroehT - 
 esaercni eht sa denifed si rotanretla na fo noitaluger egatlov ehT  eht ni

 dleif eht taht decudorp ,ffo hguorht si daol eht nehw egatlov lanimret
.tnatsnoc era deeps eht dna noitaticxe  

  = noitaluger % 001
V

VE  

 erehW   E – on eht si - egatlov daol  
  V – egatlov daol eht si  

si ’V‘ egatlov lanimret si noitairav ehT .snosaer gniwollof eht ot eud  
.1  .aR ecnatsiser erutamra ot eud pord egatloV  
.2  .ecnatcaer egakael erutamra ot eud pord egatloV  
.3  .noitcaer erutamra ot eud pord egatloV  

 
 eht fo egatlov eht gnirusaem yb denimreted eb nac rotanretla na fo noitalugeR

e.i ,rotanretla  lautca nI .ffo nekat si daol eht nehw ’E‘ dna dedaol nehw ’V‘ .
 sa yrotarobal gnitset eht ni rotanretla gib a daol ot tluciffid eb lliw ti ecitcarp
 gnitset eht gnirud ,reve eroM .sdaol yvaeh hcus evah ton yam yrotarobal eht

 fo tnuoma elbaredisnoc a doirep  ni sessol sa detsaw eb lliw ygrene lacirtcele
 ton era srotanretla egral fo noitaluger yhw si sihT .daol eht ni dna enihcam eht

.dohtem gnidaol tcerid yb denimreted yllareneg  
 

 gniwollof eht fo stluser eht morf denimreted eb nac rotanretla na fo noitalugeR
t .stset ow  

.a  .tset tiucric nepO  

.b  .tset tiucric trohS  
 

:tset tiucric nepO - on gninnur rotanretla eht htiw tuo deirrac si tset sihT -  daol
 si egatlov lanimret gnidnopserroc dna tnerruc dleif ehT .deeps detar ta dna

gatlov lanimret detar fo %021 tuoba ot pu dedrocer  swohs citsiretcarahc ehT .e
on no egatlov lanimret dna tnerruc dleif neewteb pihsnoitaler eht -  dellac si daol

.citsiretcarahc tiucric nepo eht  
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:tset tiucric trohS -  detar ta gninnur si rotanretla eht nehw demrofrep si tset sihT
 slanimret erutamra ehT .deeps  noitaticxe wol yrev a htiw detiucric trohs era

 detar si tnerruc erutamra detar ot gnidnopserroc tnerruc dleif eht dna tnerruc
 detiucric trohs dellac si tnerruc erutamra susrev tnerruc dleif fo tolp a dna

.citsiretcarahc  
 

depmi suonorhcnys sevruc eseht morF  neht dna detaluclac eb nac ecna
 sa detarapes eb nac noitcaer suonorhcnys 22

S aRsZX  
 

:erudecorP - 
tseT citsiretcarahc tiucric nepO  

.1  .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  

.2   eht ,noitisop tuo tuc ni tatsoehr dleif rotom eht htiW  si tatsoehr dleif rotanretla
4 eht ,noitisop ni tuc -  TSPT eht dna noitisop laitini si eldnah retrats tniop

.desolc si hctiws ylppus eht ,denepo  
.3  4 ehT -  tuc ot noitcerid esiwkcolc eht ni ylwols devom si eldnah retrats tniop

amra rotom eht ni ecnatsiser eht tuo  .strats rotom eht os tiucric erut  
.4   eht fo deeps detar eht si hcihw ,deeps detar sti ot thguorb si rotom ehT

.tatsoehr dleif rotom eht gnitsujda yb osla rotanretla  
.5   eht fo tnerruc dleif eht ,desolc si dleif rotanretla eht fo hctiws ylppus cd ehT

i rotanretla  htiw gnola egatlov rotanretla eht pets hcae rof dna spets ni deirav s
.deton era tnerruc dleif eht  

.6   detar ti fo %021 tuoba sehcaer egatlov rotanretla eht litnu detaeper si 5onpetS
.eulav  

.7  a eht ,noitisop nituc ot kcab thguorb si tatsoehr dleif rotanretla ehT  rotanretl
 ot kcab thguorb si tatsoehr dleif rotom cd ,denepo si hctiws ylppus cd dleif

 .denepo si hctiws ylppus eht dna noitisop tuotuc  
 

:tset tiucric trohS  
.1  .detaeper era tset .c.c.o fo 4 dna 3 ,2 ,1 s’on petS  
.2  nretla eht taht os ,desolc si hctiws TSPT ehT .detiucric trohs era slanimret rota  
.3   dleif rotanretla eht dna desolc si dleif rotanretla eht fo hctiws ylppus cd ehT

 eht fo tnerruc detar eht sdaer retemma eht taht hcus deirav si tatsoehr
.deton si tnerruc dleif gnidnopserroc eht dna rotanretla  

.4  ws TSPT ehT  tuc ot kcab thguorb si tatsoehr dleif rotanretla eht ,denepo si hcti
 dleif rotom eht ,denepo si hctiws ylppus cd dleif rotanretla eht ,noitisop ni

.denepo si hctiws ylppus cd eht dna noitisop tuo tuc kcab thguorb si tatsoehr  



urulE # gnireenignE fo egelloC yddeR R C riS  
gnireenignE scinortcelE & lacirtcelE fo tnemtrapeD  

)822EM( baL senihcaM lacirtcelE  43  

:margaiD tiucriC -
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If  spmA ni  

ralubaT  :nmuloc - 
:tset C.O      :tset C.S  

oN.lS  If 
nI  

spmA  

E0 
nI  

stlov  

 oN.lS  If 
nI  

spma  

Ia 
nI  

spma  
 
 
 

      

 
:snoitaluclac nemicepS - 

esahp rep ecnatsiser erutamra C.D  R = CD  
 esahp rep ecnatsiser evitalumuc CA  R × 6.1 ot 2.1 = CD  

o( dohtem .F.M.E :dohtem ecnadepmi suonorhcnys )r  

  esahp rep ecnadepmi suonorhcnys ehT
a

s I
E

Z 0 tnerruc dleif tnatsnoc ta /  

spma ni BA
stlov ni CAZS  ecnatcaer suonorhcnyS   &        

22
S aRsZX  

noitalugeR %   = 001
V

VE0   

 erehW   V – si esahp/egatlov lanimret detar eht  
2

a
2

a0 IniS IsoC sa XVRVE  
  )+(  (  rotcaf rewop gniggal rof -    )   rewop gnidael rof 

 rotcaf  
 detalubat dna detaluclac si noitaluger eht srotcaf rewop tnereffid rof  

 tnerruc dleif ot gnidnopserroc rfI  morf c.c.o  
 

erutaN  fo  hparg :- 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

E g
 stlo

V ni 


 

C.C.O  
CCS  

sp
m

A ni csI

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.pxE  oN  : 11  
SCITSIRETCARAHC ROTARENEG TNUHS CD  

 
:miA - on eht tcudnoc oT -  sti ward dna rotareneg tnuhs .C.D a no tset daol dna daol

.scitsiretcarahc lanretxe dna lanretni ,C.C.O  
:sutarappA - 

oN.S  sutarappA  pyT e egnaR  ytQ  
1  retemtloV  )C.M(   0 – V 052  1 
2  retemmA  )C.M(   0 – A 01  1 
3  retemmA  )C.M(   0 – A 2  1 
4  tatsoehR  dnuoW eriW   005 A 2.1 ,  2 
5 retemohcaT  latigiD  0- MPR9999  1 
6 xob daoL   evitsiseR  A 01 /V 032  1 
7  rotareneg tnuhs .C.D

rotom .C.D delpuoc  
 - - 

8 seriw gnitcennoC  detalusni CVP  - - 
 

:yroehT - 
:)CCE( evruc citsiretcarahc lanretxE - .noitidnoc daol rednu nward si sihT  

 ro egatlov daol dna tnerruc enil ro tnerruc daol neewteb nward evruc eht si tI
e decudni sixa X no tnerruc gnikat egatlov lanimret .sixa Y no fm  

 citsiretcarahc latot sa dellac osla si tI .)CCI( evruc citsiretcarahc lanretnI
 gnikaT .egatlov detareneg dna tnerruc erutamra neewteb nward si tI .evruc

 sixa Y no fme decudni ,sixa X no tnerruc erutamra  
 dna egatlov lanimret neewteb noitaleR :fme decudni -  eht ot nevig egatlov ehT

 nwonk si rotareneg eht ni decudni dna egatlov lanimret sa nwonk si lanimret
.E yb detneserper si ti fme decudni sa  

:erudecorP - 
.1  .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  
.2  ehr dleif rotom eht taht gnirusnE  dleif rotareneg ,noitisop TUOTUC ni si tatso

3 ,noitisop NITUC ni si tatsoehr -  dna noitisop laitini ni si eldnah retrats tniop
.desolc si )TSPD( hctiws ylppus eht dna noitisop ffo ni si hctiws daol eht  

.3  3 ehT - llaudarg esiw kcolc devom si eldnah retrats tniop  eht tuo tuc ot y
 .strats rotom eht taht os ,tiucric erutamra rotom htiw ecnatsiser  

.4  .tatsoehr dleif rotom eht gniyrav yb deeps detar sti ot thguorb si rotom ehT  

.5   tnerruc dleif fo sgnidaer eht dna spets ni deirav si tatsoehr dleif rotareneg ehT
 lanimret dna .deton era egatlov  

.6  .eulav detar sti ot sehcaer egatlov rotareneg eht litnu detaeper si 5 oN petS  

.7   lla dna rotareneg eht ot daol eht tcennoc ot desolc si )TSPD( hctiws daol ehT
.nmuloc ralubat eht ni deton era sgnidaer retem eht  

.8  a spets ni deirav si daol ehT  ralubat eht ni deton era sgnidaer retem eht lla dn
 .nmuloc  

.9  .dehcaer si rotareneg eht fo tnerruc detar eht litnu detaeper si 8.on petS  
.01   dleif rotareneg eht ,denepo si hctiws daol eht ,spets ni decuder si daol ehT

 ,noitisop NITUC ot kcab thguorb si tatsoehr  ot tatsoehr delif rotom eht
.denepo si hctiws ylppus eht dna noitisop TUOTUC  
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:nmuloC ralubaT - 
citsiretcarahc tiucric nepO  citsiretcarahc lanretxe dna lanretnI        

on.lS  If 
nI  

spmA  

E 
nI  

stloV  

 on.lS  If 
nI  

spmA  

IL 
nI  

spmA  

V 
nI  

stlov  

Ia 
nI  

spmA  

Ia R a 
nI  

stloV  

E 
nI  

stlov  
 
 

          

 
:snoitaluclac nemicepS - 

I + V = E = daol rednu egatlov decudnI a R a 
 

:hparg fo erutaN - 

 
)a(giF citsiretcarahC tiucriC nepO :   )b( giF E( lanretnI : g I sV a  dna )  

V( lanretxE    L  sV
IL C) scitsiretcarah  

 aviV – :snoitseuQ ecoV - 
.1   pu dliub ot rotareneg tnuhs eht rof dellifluf eb ot snoitidnoc eht era tahW

?egatlov  
.2   tnuhs cd eht ot detaler ”ecnatsiser dleif lacitirc“ mret eht yb tnaem si tahW

?rotareneg  
.3  er daol lacitirc“ mret eht yb tnaem si tahW  tnuhs cd a fo esac ni ”ecnatsis

?rotareneg  
.4  .rotareneg cd a fo erutamra eht ni decudni egatlov fo epyt eht si tahW  
.5   cd a rof noitidnoc daol rednu ”egatlov decudnI“ eht erusaem uoy naC

?yhW ?rotareneg  
.6  retcarahc daol eht ni pord noitcaer erutamra eht tneserpeR  tnuhs cd a fo scitsi

?rotareneg  
.7  ?enihcam cd a ni rotatummoc eht fo esoprup eht si tahW  
.8  N deeps lacitirc“ yb tnaem si tahW 0 ?rotareneg tnuhs cd a fo esac ni ”  
.9  ?rotareneg cd fo noitarepo fo elpicnirp eht si tahW  
.01  llaf egatlov eht gnitceffa srotcaf eht tuo tsiL ?rotareneg tnuhs cd a ni  
.11  rotareneg cd a fo dleif eht ot ylppus ca nevig uoy fi neppah lliw tahW  
.21   si ti nehw egatlov lanimret orez a gniwohs si rotareneg detcennoc ylreporp A

?nosaer eht si tahW .revom emirp a yb nur  
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.pxE  oN  : 21  
WOP 3 A NI TNEMERUSAEM RE -  TIUCRIC C.A DECNALAB Φ

DOHTEM RETEM TTAW OWT GNISU  
 

:MIA  
 3 eht erusaem oT -  C.A decnalab a ni dohtem retem ttaw owt gnisu rewop Φ

.tiucric  

 
:DERIUQER SUTARAPPA  

 
  

on.S  deriuqer sutarappA  epyT  egnaR        ytitnauQ      
.1  retemmA  I.M( )  0( –   A ) 01  1              
.2  retem tloV  )I.M(   0( –   V )006               1 
.3  )FPU( retemttaW  retemomanyD    A01/V006  2              
.4  3- daol Φ  evitsiseR    A02,V514               - 
.5  seriw gnitcennoC   CVP

detalusni  
         -              - 

 
ROEHT :Y  

 
  owt eht ni daol eht htiw seires ni slioc tnerruc owt eht fo snoitcennoc ehT

 esahp driht dna sesahp owt neewteb detcennoc era slioc erusserp owt eht dna sesahp

I .ylevitcepser   f I reirrac lioc tnerruc eht R I dna B V era lioc erusserp eht dna  RY V dna BY  

. 

I stnerruc suoenatnatsni fo smret nI R I, Y I, B  segatlov suoenatnatsni dna 

VR V, Y V, .B  

yb nevig si rewop latot suoenatnatsni ehT  

   V = P RI  R V + YI  Y V + BI  B  _________   
 
 evah ew ,lartuen tuohtiw detcennoc y fo esac nI  

  I  R I +  Y I+ B 0 =  

  I  Y  = - I(  R I + B _____ )  ______    

  

 noitauqe etutitsbuS   noitauqe ni        

 V = P RI  R V + Y(-I  R – IB V + ) BIB 

 V =   RI  R - V YI  R – VYIB V + BIB 

 I =   R V(  R – VY I + ) B V( B – V Y) 

 V = P RY I  R V + BY IB 

 

1 

2 

2 1 
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:ETON  .rewop egareva eht ylno daer sretem ttaw ehT  

 .e.i :1 rebmun retemttaW  

       W1 I seirrac lioc tnerruC ___ R 

   V seirrac lioc erusserP ___ RY  

 .e.i :2 rebmun retemttaW  

       W1 I seirrac lioc tnerruC ___ B 

   V seirrac lioc erusserP ___ BY  

W = P ,eroferehT  1 W + 2 

  V = P  RY I  R Φsoc  1 V + BY I B Φsoc     2           ________  

    3 a rof rewop egareva latot eht ,suhT -  owt gnidda yb deniatbo si tiucric Φ

W retem ttaw fo gnidaer 1 W dna .2  

 Φ soc           noitauqe nI 1 Φsoc dna 2 V neewteb selgna esahp eht era  RY I dna  R

V neewteb dna  BY I dna .B  

I stnerruc suoenatnatsni fo smret nI R I, Y I, B  segatlov suoenatnatsni dna 

VR V, Y V, .B  

 yb nevig si rewop latot suoenatnatsni ehT  

:ERUDECORP  

.1  .margaid tiucric eht rep sa snoitcennoc eht ekaM  

.2  .hctiws )TSPT( ylppus eht esolC  

.3   rof dna spets ni deilppa si daol ehT .deton era sgnidaer retem pets hcae  

.4  .dehcaer si daol fo tnerruc detar eht litnu 3 pets taepeR  

.5  .denepo si hctiws dna spets ni devomer si daoL  

.6  .rewop latot eht yfirev dna etaluclaC  

:NMULOC RALUBAT  

 

ON.S  V    1 )stloV(  W1 )sttaW(  W2 )sttaW(  W1 W+ 2 IL )spmA(  V 3√ LIL Φsoc  

       

 

 
:SNOITALUCLAC LEDOM  

 
 V( daol ssorca egatloV L V            = )  

 I( tnerruc daoL L A                         = )  

 W gnidaer retem ttaW  1 sttaW            =  

3 

3 



urulE # gnireenignE fo egelloC yddeR R C riS  
gnireenignE scinortcelE & lacirtcelE fo tnemtrapeD  

)822EM( baL senihcaM lacirtcelE  14  

   W         2 sttaW            =  

   W 1 W+  2 sttaW            =  

  = rewop latoT V 3√ LIL sttaW  Φsoc  
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.pxE  oN  : 31  

ROTOM TNUHS CD FO LORTNOC DEEPS  
:miA -  dna dohtem lortnoc erutamrA yb rotom tnuhs .C.D a fo deeps eht lortnoc oT 

.dohtem lortnoc dleif  
 

:sutarappA - 
 

oN.S  sutarappA  epyT  egnaR  ytQ  
1  retemmA  )C.M(   0 – A 3  1 
2  retemtloV  )C.M(   0 – V 052  1 
3  tatsoehR  dnuow eriW   005 A 2.1 ,  1 
4  tatsoehR  dnuoW eriW   83 A 01 ,  1 
4 retemohcaT  latigiD   0 – mpr 9999  1 
6  rotom tnuhs .C.D   A 21 ,V 022 ,PH3  1 
7 seriw gnitcennoC  detalusni CVP  - - 

 
:yroehT -  

oc eb nac rotom tnuhs cd a fo deeps ehT  gniyrav yb dellortn  
)i   )dohtem lortnoc xulF( elop/xulF  
)ii  )dohtem lortnoc tatsoehr( tiucric erutamra fo ecnatsiseR  
)iii  )dohtem lortnoc egatloV( lortnoc deilppA  

:noitaler eht yb nevig si rotom a fo deepS  
bE

N     -- )1(  

:dohtem lortnoc xulF )i -  lamron evoba sdeeps nehw desu si dohtem sihT
 ,xulf eht gnisaerced yb )1( noitauqe evoba eht nI .deriuqer era sdeeps
 nac rotom cd a fo xulf ehT .asrev eciv dna desaercni eb nac deeps eht

I gnignahc yb degnahc eb hs hT .tatsoehr dleif tnuhs a fo pleh eht htiw  e
I .ssel si tatsoehr dleif tnuhs ni tnerruc 2  tatsoehr taht os ,llams si ssol R

.ezis ni llams si  
 

:dohtem lortnoc tatsoehr ro erutamrA )ii -  sdeeps nehw desu dohtem sihT 
on eht woleb -  egatlov eht dohtem siht nI .deriuqer era sdeeps daol

i erutamra eht ssorca  seires ni tatsoehr elbairav a gnisaercni yb deirav s
 laitnetop ,desaercni si ecnatsiser sa ,tiucric erutamra eht htiw
 eht gnisaerced yb ereht ,desaerced & erutamra eht ssorca ecnereffid
 dna )erom ssol uC( evisnepxe si dohtem sihT .deeps erutamra

elbatiusnu R fo eulav nevig a rof esuaceb sdaol gnignahc yldipar rof t  ,
.daol htiw egnahc lliw deeps eht  

 
:dohtem lortnoc egatloV )iii -  sdeeps eht lortnoc ot desu osla si dohtem sihT

on eht woleb -  si rotom eht fo dleif tnuhs eht dohtem siht jI .sdeeps daol
a detcennoc  tnereffid gniylppus yb neht dna ylppus dexif eht ssorc

 lortnoc ehT .deniatbo era sdaol tnereffid erutamra eht ot egatlov
 dna reifitcer etats dilos ,sredived laitnetop morf deniatbo si egatlov

draw - .metsys dranoel  
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:erudecorP - 
 

)a  utamrA roF :dohtem lortnoc egatlov er - 
 

.1  .margaid tiucric eht ni nwohs sa edam era snoitcennoc ehT  

.2   ni tatsoehr dleif eht ,noitisop NITUC si tatsoehr erutamra eht htiW
3 eht dna noitisop TUOTUC -  eht ,noitisop laitini sti ta eldnah retrats tniop

olc si hctiws ylppus .C.D .des  
.3  3 ehT -  eht tuo tuc ot yllaudarg esiw kcolc devom si eldnah retrats tniop

 si deeps emos ta snur dna strats rotom eht taht os tatsoehr erutamra
.tatsoehr dleif eht gniyrav yb eulav niatrec a ot detsujda  

.4  yb eulav niatrec a ot detsujda si tnerruc dleif ehT  tatsoehr dleif eht gniyrav 
.deeps detar yltaen ta snur rotom eht taht hcus  

.5   si egatlov erutamra eht taht os yllaudarg tuotuc si tatsoehr erutamra ehT
 ralubat eht ni deton era sdeeps gnidnopserroc eht dna spets ni deirav

.nmuloc  
.6  .tuotuc yletelpmoc si tatsoehr erutamra eht litnu detaeper si 5 .on petS  
.7   erutamra eht ,noitisop TUOTUC ot kcab thguorb si tatsoehr dleif ehT

.denepo si hctiws ylppus .C.D eht dna noitisop NITUC ot tatsoehr  
 

:dohtem lortnoc dleif roF )b - 
 

.1  3 & 2 ,1 .son petS .detaeper era dohtem lortnoc egatlov erutamra fo  

.2   ssorca deilppa si egatlov detar eht taht hcus deirav si tatsoehr erutamra ehT
.slanimret erutamra eht  

.3   si tnerruc dleif eht taht os spets ni tuc yllaudarg si ecnatsiser dleif ehT
dna A50.0 fo spets ni deirav .detar era sdeeps fo eulav gnidnopserroc eht  

.4  .NI TUC yletelpmoc si tatsoehr dleif eht litnu detaeper si 3 .on petS  

.5  .V002 fo egatlov erutamra na rof detaeper era 4 dna 3 .on petS  

.6   ot tatsoehr erutamra eht ,TUO TUC ot kcab thguorb si tatsoehr dleif ehT
I TUC     .denepo si hctiws ylppus eht dna noitisop N  

 
 

:nmuloc ralubaT - 
 

lortnoc egatlov erutamrA )a    dohtem lortnoc dleiF )b  
 
 

 = tnerruc dleiF     = egatlov erutamrA  
 

oN.lS  egatlov  erutamrA  
nI  

stloV  

deepS  
nI  
mpr  

 oN.lS  tnerruc dleiF  
nI  

stloV  

deepS  
nI  
mpr  
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:hparg fo erutaN  
 

 lortnoC egatloV erutamrA )a    lortnoC dleiF )b  
 

 

 
 aviV – :snoitseuQ ecoV - 

 
.1   ro eurt( tnerruc dleif ot lanoitroporp yltcerid si rotom tnuhs cd a fo deepS

?)eslaf  
.2  eeps teg uoy od woH .mpr 0051 sa deeps detar rotom tnuhs cd A  dna woleb d

?mpr 0051 evoba  
.3   rehto eht si tahW .rotom cd a ni decudni FME kcab eht fo noitauqe eht eviG

?detaluclac eb nac ti hcihw yb noitauqe  
.4   ecnatsiser seires mra dna lortnoc egatlov mra neewteb ecnereffid eht si tahW

W ?rotom tnuhs cd fo esac ni lortnoc ?elbareferp si eno hcih  
.5   yllausu eb ti lliw tnecrep hcum woH ?rotom cd a fo noitaluger deeps enifeD

?rotom tnuhs a rof  
 
 
 


